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SE 16, 24,0059, <017, L0<cos2¢ 201)<.08, 20.60 Cont

SE 18, <24,04p, <07, 08<cos29 20h)<.0.5,20.60 Cont

SE16<p, 24,069, <07, -0.5<cos(297-20N)<0.4, 2080 Cont.

SEL8<p, <24,004p,, <07, 04400529 2p1)<0.2, 20.80 Cont

SE 1649, 24,06, <07,-0.2<c0s2 20)<00, 2060 Cont
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SEL8<p, 24,0749, 07,1 0<c0s2g-2PN)<08, 2060 Cant. SEL86p, 24,0749, 07, 08052 2PN)<0, 2050 Cont SE184p, 24,0759, 07, 060526 ZpN)<04, 2060 Cant SELOP, 24,07, <07, D d<coszg-2h)<02, 200 Cont. SEL84p, 24,0759, <07 -0 25082y 2Bh<00, 2050 Cent
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SE 189, 24,0749, <07, -L0<c0s26 <08, 2050 Cont SE 180, 24,0749, <07, 0B<cas2e <05, 2050 Cont SE 189, 24,0749, <07, 06<cos2¢- T<0.4,2050 Gt SE L8, 24,0749, <07, D 4cco(2q 20N)<02, 2080 Cont
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SE 166D, <24, 074D, <08, -05<cos(2¢- 260105, 2060 Cent SE 164D, 24,074, <08, 0.4<cos(26- 201)< 02, 2060 Cent

SE 1649, 24,074, 08, 0250082 20)<00, 2060 Cont
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SE 164D, <24, 084D, <05, L 0<cos(26-260)< 05, 2060 Cent
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SE 16D, <24, 084D, <05, -05<cos(2¢- 260105, 2060 Cent.
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SE 16¢p, <2.608<p,, <08, 02<cos(29-2ph<0.4, 200 Cent
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SEL8<p, <24,006p,, <08, 0440529 2p1)<0.2, 20.80 Cont

SE L8, <24,006p,, <08, L0<cos2¢2p1)<0.5, 20.80 Cont SE L8, <24,004p,, <05, 0850529 20h)< 0.5, 20.80 Cont
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SE 16¢p, 24,08, <09, 08<cos20-20







SE L6, 24,099, <05,
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SE 164D, 24,09, <05, L 0<cos(26-261)< 05, 2050 Cent

SE 166D, <24, 09, <05, 05<cos(2¢- 26005, 2060 Cent

SEL8<p, <24,09<p,, <03, 0.4<c0s2¢2p1)<0.2, 20.80 Cont




SE 164D, 24,09, <05, L 0<cos(26-261)< 05, 2050 Cent
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SE 166D, <24, 09, <05, 05<cos(2¢- 26005, 2060 Cent

SE L8P, 24,09, <03, -0 5<cos{2g20h<-0.4, 20.80 Cont




SE 164D, 24,09, <10, 0 4<cos(26- 201)< 02, 2060 Cent

SE16<p, 24,094, <L0, 0250082 20)<00, 2060 Cont

SE 166D, <24, 09, <10, -05<cos(2¢" 260105, 2060 Cent

SE 104, 24,09, <L0, -0 5<cosi2g 20h<-0.4, 2080 Cont




SEL86p, 24,1067, 10, 08<C0s2g- 2PN)<0, 2050 Cont SELO, 24,1049, 1.0, 04<c0s26- 2ph)<02, 2080 Cont




SE 16, <24, 1049, <10, L0<cos2¢ 20h)<.03, 20.60 Cont.

SE 166D, <24, 10D, <10, 05<cos(2¢" 260105, 2060 Cent.

SE 16¢p, <2, 10%P,, <10, 0 25cos(29-2ph<0.4 200 Cent

SE L6, 24,109, <10,

0.5<c0s(297-20M)<0.4, 200 Cont
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SE 164D, 24,10, <1 SEL6<p, 24,106D,, <10, -0 2<c05(27-2p1)<00, 2060 Cont




SEL6<p, 24,106D,, <10, -0 2<c05(27-2p1)<00, 2060 Cont

SEL8<p, <24, 10<p,, <10, 04650526 2p1)<0.2, 20.80 Cont

SEL6<p, <24,106D,, <10, 0.5<co5(29'-20M)<0.4, 200 Cont

SE L8, <24, 10<p,, <10, L0<cos2¢201)<0.5, 20.80 Cont

SE 166D, <24, 10D, <10, 05<cos(2¢" 260105, 2060 Cent.




SE L8, <24, 10<p,, <11, L0<cos2g2p1)<0.5, 20.80 Cont SE 166D, <24, 10, <11, -05<cos(2¢" 260105, 2060 Cent.

SEL6<p, <24,106D,, <11 -05<c05(2920M)<0.4, 2060 Cont

SEL8p, <24, 10<p,, <11, 04500526 2p1)<0.2, 20.80 Cont

SEL6<p, 24,106D,, <L, -02<c05(27-2p)<00, 2060 Cont




SE L8, <24, 115p, <11, L0<cos2¢201)<05, 20.80 Cont SE L8, <24, 115p, <11, 0850529 20h)<0.5, 20.80 Cont SEL8p, <24, 115D, <11, 04500526 2p1)<0.2, 20.80 Cont

SEL6sp, 24, 114D, <L1,-02<c05(27-2p1)<00, 2060 Cont




SEL8p, <24, 115D, <11, 04500526 2p1)<0.2, 20.80 Cont

SEL6sp, 24, 114D, <L1,-02<c05(27-2p1)<00, 2060 Cont

SE L8, <24, 115p, <11, 0850529 20h)<0.5, 20.80 Cont
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SE L8, <24, 115p, <11, L0<cos2¢201)<05, 20.80 Cont SE 166D, <24, 115D, <11, -05<co8(2¢" 200105, 2060 Cent.

SEL6sp, <24,116p,, <11 -05<co5(2920M)<0.4, 200 Cont

SEL8p, <24, 115D, <11, 04500526 2p1)<0.2, 20.80 Cont

SEL6sp, 24, 114D, <L1,-02<c05(27-2p1)<00, 2060 Cont




SEL6sp, 24, 114D, <1.2,-0 2<c0s(27-2p)<00, 2060 Cont

SE 164D, <24, 115D, <12, L 0<Co0(26-200)< 08, 2050 Cent SE L8, <24, 11<p, <12, 0850529 20h)<.0.5, 20.80 Cont

SEL6sp, <24,114p,, <1.2,-05<cos(29"-20M)<0.4, 2060 Cont

SEL8p, <24, 115D, €12, 04400526 2p1)<0.2, 20.80 Cont




SE 184D, 24,129, <12, 0.4<cos(26-200)< 02, 2050 Cent.
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SE 1669, 24,1240, <1.2,-0 2082 20)<00, 2060 Cont

SEL6kp, 24,1269, <1.2,-05<cos(29"-20M)<0.4, 200 Cont

SE L8, <24, 125p,, <12, 0850529 20h)< 0.5, 20.80 Cont

SE L8, <24,125p,, <12, L0<cos2¢201)<0.5, 20.80 Cont
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SELosp, 24,1259, <1.2,-0 2<c0s(27-2p1)<00, 2060 Cont

SE 164D, <24, 124D, <12, L 0<Co9(26-200)< 08, 2050 Cent SE L8, <24, 125p,, <12, 0850529 20h)< 0.5, 20.80 Cont

SEL6kp, 24,1269, <1.2,-05<cos(29"-20M)<0.4, 200 Cont

SEL8p, 24,1259, <12, 04500529 2p1)<0.2, 20.80 Cont




SEL8p, 24,1259, <12, 04500529 2p1)<0.2, 20.80 Cont

SE L8, <24, 125p,, <12, 0850529 20h)< 0.5, 20.80 Cont
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SE 164D, <24, 134D, <13, L 0<cos(26-260)< 08, 2060 Cent. SE L8, <24, 134p, <13, 0850529 20h)< 0.5, 20.80 Cont SEL6sp, <24,136p,, <13, -05<co5(29-20M)<0.4, 2060 Cont SEL8<p, <24, 136p,, <13, 04600526 2D1)<0.2, 20.80 Cont SEL6sp, 24,136, <13, -0 2<005(27-2p1)<00, 2060 Cont




SE 166D, <24, 134D, <13, -05<cos(2¢" 280105, 2060 Cent SE 184D, 24,13, <13, 0.4<cos(26-201)< 02, 2050 Cent SEL6sp, 24,136, <13, -0 2<005(27-2p1)<00, 2060 Cont




SE L8P, <24, 136p,, <14, 04500526 2p1)<0.2, 20.80 Cont SE16<p, <24, 136D, <L4,-0 250082 20)<00, 2060 Cont

SE16<p, 24,1369, <14, -05<cos(29-20N)<0.4, 200 Cont.

SE L8, <24, 136p,, <14, L0<cos2¢2p1)<0.5, 20.80 Cont SE 166D, <24, 134D, <14, -05<cos(2¢" 260105, 2060 Cent




SE 164D, <24, 14<D,, <14, L 0<co9(26-200)< 08, 2050 Cent SE 166D, <24, 144D, <14, -05<cos(2¢" 260105, 2060 Cent SEL6sp, <24, 146D, <14, -05<c05(29200)<0.4, 2060 Cont SEL8<p, <24, L4cp,, <14, 04500529 2p1)<0.2, 20.80 Cont SE16<p, <24, 144D, <14, 02500829 20)<00, 2060 Cont
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SE L8, <24, L4cp, <14, L0<cos2¢2p1)<0.5, 20.80 Cont

SE L8, <24, L4<p, <14, 0850529 20h)<0.5, 20.80 Cont
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SEL8<p, <24, L4cp,, <14, 04500529 2p1)<0.2, 20.80 Cont

SEL6cp, 24, 144D, <14,-02<c0(27-2p)<00, 2060 Cont




SE L8, <24, L4cp, <14, L0<cos2¢2p1)<0.5, 20.80 Cont

SE L8, <24, L4<p, <14, 0820829 20N)<.0.5,20.60 Cont

SEL6sp, <24, 146D, <14, -05<c05(29200)<0.4, 2060 Cont

SEL8<p, <24, L4cp,, <14, 04500529 2p1)<0.2, 20.80 Cont

SEL6cp, 24, 144D, <14,-02<c0(27-2p)<00, 2060 Cont
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SE L8, <24, L4cp, <15, L0<cos2¢201)<0.5, 20.80 Cont

SE 18, <24, L4<p, <15, 0.8<cos29 20h)<.0.5,20.60 Cont
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SEL8p, <24, 14cp,, <15, 04500526 2pN)<0.2, 20.80 Cont
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SE 18, <24, 15%p, <15, 0.8<cos29 20h)<.0.5,20.60 Cont.
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SE 18, <24, 15<p, <15, L0<cos29 20N)<.08, 20.60 Cont

SE L8, <24, 15<p, <15, 0850529 20h)<0.5, 20.80 Cont

SE16<p, 24,159, <15, -05<cos(29-20N)<0.4, 2080 Cont.

SE16<p, 24,159, <15, -04<c05(2920N)<0.2 2080 Cont.

SE16<p, 24,15, <L5, 0250082 20)<00, 2060 Cont
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SE 18, <24, 15<p, <15, L0<cos29 20N)<.08, 20.60 Cont

SE L8, <24, 15<p, <15, 0850529 20h)<0.5, 20.80 Cont

SE16<p, 24,159, <15, -05<cos(29-20N)<0.4, 2080 Cont.

SE16<p, 24,159, <15, -04<c05(2920N)<0.2 2080 Cont.

SEL6<p, 24,156, <15, -0 2<c0(27 2p1)<00, 2060 Cont
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SE30%p, <42, 15<p, <15, 0850529 20h)< 0.5, 20.80 Cont

SE30%p, 42,159, <15, -05<cos(2-20N)<0.4, 2080 Cont.

SE30%p, 42,1549, <15, -04<c05(2920N)<0.2, 2080 Cont.

SE20%p, 42,15, <L5, 0250082 20)<00, 2060 Cont

= = e = T T
0.8} veanx -0.1351 Meanx 02121 osp ' ', e eanx 01208
eany o0rsas | eany 0ozeas ' 3 [veeny ooosezs
04 swers 1aas [° suveux 1767 06f 1 ' st vevx 1004
st 0evy 0403 s60evy 05015 [ ' st pevy o069
0.4] 04F ! L T
e KR T N B NITS
03 4t C4d ozf, ' ', '
] ! i o ! '
0| N 1.5 i of [ 1 1
. " '
-0.9 £ -02F
[ ' T A .
-0.4§ p' € -04F ' "
1 ] [} ' H
0.6 c 4 R Lo gt
T = ' . oo v
— H — = 1
0. , 2 o8f’ LN ' .
_ o LI . L L 1 1 1 I
3 3 B2 A 0 1 2 3
9 9 9
SE 3009, 42,1567, 15,0 4ccos2q-Z<0.8, 2060 Com
=i T T T T ——— =i T T
Y . o veanx -0.5015 o8k \ '
. veany 002167 '
06f" e 1s fe 06F '
v, ' . ey oass . . .
"
0aF 1 r ot . i 0.4F "
o2f" i e i 02 1 b
Eo (RS z , . "
' ' '
[ . ' R - v, ' '.'.\ L oF [ER T
-02F 1 1, [ 1 ' e . . £ -0.2F [ ' [
] "1 L] N LI | 1 R ] [ ] ]
Y| ' [T ol LTI ¢ oap "t ' u' L,
! ! L v ot )
| " ' L T Wl " '
-0.6f1 ' v, 4 - . 4 —o6fF W ), o
' ' ' Va ' ' '
-o8F L 2 " 2 -osf' 4 vt '
B N L 1 1 1 o i 1 1 1 I _ L 1 L 1
=8 2 1 0 1 2 3 =2 0 1 2 3 82 10 1 2
o 9




SE30%p, 42,1549, <15, L0<cos29 20M)<.08, 20.60 Cont

SE30%p, <42, 15<p, <15, 0850529 20h)< 0.5, 20.80 Cont

SE30%p, 42,159, <15, -05<cos(2-20N)<0.4, 2080 Cont.

SE30%p, 42,1549, <15, -04<c05(2920N)<0.2, 2080 Cont.

SE30<p, 42,156, <15, -0 2<c0(27-2p1)<00, 2060 Cont
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SE30%p, 42,1549, <16, L0<cos29 20N)<.08, 20.60 Cont

SE30%p, <42, 15<p, <15, 0850529 20h)< 0.5, 20.80 Cont

SE30%p, 42,159, <16, -05<cos(2-20N)<0.4, 2080 Cont.
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SE30%, <42, 16<p,, <16, L0<cos2¢ 20M)<.08, 20.60 Cont
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SE30%p, <42, L6<p, <15, 0850529 20h)< 0.5, 20.80 Cont

SE30%p, 42,169, <16, -05<cos(297-20N)<0.4, 200 Cont.

SE30%p, 42,1669, <16, -04<c05(2920N)<0.2 2080 Cont.
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SE30%, <42, 16<p,, <16, L0<cos2¢ 20M)<.08, 20.60 Cont

SE30%p, <42, L6<p, <15, 0850529 20h)< 0.5, 20.80 Cont

SE30%p, 42,169, <16, -05<cos(297-20N)<0.4, 200 Cont.

SE30%p, 42,1669, <16, -04<c05(2920N)<0.2 2080 Cont.
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SE30%p, 42, 16<p, <17, L0<cos29 20h)<.08, 20.60 Cont

SE30%p, <42, 16<p, <17, 0.8<cos29 20h)<.0.5,20.60 Cont

SE30%p, 42,1669, <17, -05<cos(2-20N)<0.4, 2080 Cont.

SE30%p, 42, 16<p, <17, -04<c05(2920N)<0.2, 2080 Cont.

SE20%p, 42, 16D, <L7,-02<0082 20)<00, 2060 Cont
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SE30%p, 42, 17<p, <17, L0<cos29 20N)<.08, 20.60 Cont SE30%p, <42, 17<p, <17, 0850529 20h)<0.5, 20.80 Cont SE30%p, 42,1749, <17, -05<cos(2-20N)<0.4, 2080 Cont. SE30%p, 42,174, <17, -04<c05(2920N)<0.2, 2080 Cont. SEQ0%p, 42, 174D, <L7,-0 250082 20)<00, 2060 Cont
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SE30%p, 42, 17<p, <17, L0<cos29 20N)<.08, 20.60 Cont

SE30%p, <42, 17<p, <17, 0840829 20h)<.0.5,20.60 Cont

SE30%p, 42,1749, <17, -05<cos(2-20N)<0.4, 2080 Cont.

SE30%p, 42,174, <17, -04<c05(2920N)<0.2, 2080 Cont.

SEQ0%p, 42, 174D, <L7,-0 250082 20)<00, 2060 Cont
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SE30%p, 242, 17<p <15, L0<cos29 20h)<.08, 20.60 Cont.

SE30%p, <42, 17<p, <15, 0850529 20h)< 0.5, 20.80 Cont

SE30%p, 42,174, <18, -05<cos(2-20N)<0.4, 2080 Cont.

SE30%p, 42,1749, <18, -04<c05(2920N)<0.2, 2080 Cont.

SE20%p, 42, 175D, <L8, 0250082 20)<00, 2060 Cont.
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SE30p, <42, 10<p,, <18, L0<cos2¢201)<0.5, 20.80 Cont

SE 30, <42, 1L0<p, <15, 0850529 20h)< 0.5, 20.80 Cont

SES0%p, 42,186D,, <18, 0.5<cos(2920M)<0.4, 2060 Cont

SE30p, 42, 18<p, <18, -04<c05(2920N)<0.2 2080 Cont.

SE 2069, 42, 166D, <18, 0250082 20)<00, 2060 Cont
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SE30%, <42, 18<p, <15, L0<cos29 20h)<.08, 20.60 Cont

SE 30, <42, 1L0<p, <15, 0850529 20h)< 0.5, 20.80 Cont

SE30%p, 42,1869, <18, -05<cos(2-20N)<0.4, 200 Cont.

SE30p, <42, 10<p,, <18, 04400526 2p1)<0.2, 20.80 Cont

SE 2069, 42, 166D, <18, 0250082 20)<00, 2060 Cont
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